Tuesday 2nd March – Percentage Tasks – Bronze Q1-4, Silver Q5- 8 and Gold Q9-12.
Use the bubble method to find these percentages (templates are on the Monday and Tuesday Home Learning Page)
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Extension Task 
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Answers for Bronze, Silver and Gold…

[image: ]
image5.png
Developing

1a.
on | o | ww
20.A.84:8.42:C.36;D. 114
3028
0. Highest - A: Lowest =B
Expected
5a.
R T

6a.A. 153 B.2m 79cm: C. 54 D. 126
70585

8a. Highest = C; Lowest =
Greater Depth
9a.
s | wm | en
B | ten | | o

100 A 945 8. 35.1cm; C. 1.62m: D. 75.6

Lowest = A




image1.png
1a. Complete the fable below.
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2a. Find 60% of the following amounts.
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5a. Complete fhe fable below.
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a. Find 45% of e following amounts.

A.340 B.ém20cm C.120 D.280

w
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‘8. Which card shows fhe highest
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9a. Complete fhe fable below.
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100, Find 27% of the following amounts.
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120, Which card shows fhe highest
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Would you rather......

Have 10% of £5 or 75% of 80p?

e ®

Be given 60% of 2 pizzas or 26% of 5 pizzas?

Be bitten by 15% of 120 mosquitoes or 8% of 250 mosquitoes?

oy

R
Skip using a rope which is 54% of 105cm long, or 88% of 2.75m long?
Sit in a traffic jam for 33% of 2 hours or 44% of 1hr 40mins?

e W 5o

Make sure you explain your reasons clearly.




